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INSTRUCTIONS

1. The Question Paper contains 150 questions. ( Part-A) 1 to 75 questions relate to General Studies and
Mental Ability and (Part-B) 76 to 150 questions relate to General Science and General Mathematics.
Each question carries 1 mark. For each wrong answer 1/3' mark will be deducted.

2. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained for
evaluation and the second copy (Duplicate) can be taken by the candidate.
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3. Write your Registered Number on the top of the Question Paper. On the right hand corner of
the first page, the Question Paper Series is printed as @ or (B) or © or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series is printed as
@ © @ Darken the appropriate circle, as per your Question Paper Series with
Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A, please fill as shown below

®@® OO0

If you have not marked the Question Paper Series on the OMR Answer Sheet, Side-1 at Part C
with blue/black ball point pen, or marked in a way that it leads to discrepancy in determining
the exact Question Paper Series, then your Answer Sheet will be invalidated without any
JSurther notice. No correspondence will be entertained in the matter.

4. Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

5. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.

6. Each question is followed by 4 answer choices. Of these, you have to carefully select one correct
answer and mark it on the OMR Answer Sheet by completely darkening the appropriate circle
for the question. If more than one circle is darkened, the answer will not be valued at all. Use
Blue or Black Ball point pen to make thick mark to fill the circle completely. Make no other
stains or marks. Using Whitener/Blade/Eraser/Chalk Powder anywhere on the OMR Answer
Sheet or any kind of tampering to change the answers on OMR Answer Sheet will lead to
invalidation of the entire OMR Answer Sheet.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

O |@O|®

7. Do not fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

8. Do mot mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

9. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
possession of such devices, it will be considered as cheating and strict action taken.

10. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

11. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 242 Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

12. Before leaving the examination hall, the candidate should hand over the OMR Answer Sheet
top sheet (Original) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.
Carrying away Original OMR Answer Sheet will be a criminal offence.
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PART - A
GENERAL STUDIES AND MENTAL ABILITY

ELE

1. What is the name of the first private Indian rocket launched in 2022 ?

(1) Vikram-S (2) Agni-V (3) RLV-TD (4) SSLV-DI
2022 & HBTRoWEES I00e5e3 265 erSBHOLH 0°8eS D> e 2

(1) DES-R (2) ofiy-2 (3) 65— (4) 2DDD-é1

2. Who is the current DRDO, Chairman/Secretary of the Department of Defence R&D ?
(1) Dr. G. Satheesh Reddy (2) Dr. Samir V. Kamat

(3) Dr. Tessy Thomas (4) Dr. A.P. Adni Reaay

5:08 258, DRDO/ S8 79 R&D 5265650 3580 7
(1) =56« $823¢ (2) @56 306 . oS

—U

3) =56 8y s @) =55 . 2. &0 3G

A
[u]

ENE

3. When was the Digital India Mission launched ?
(1) 2005 (2) 2015 (3) 2010 (4) 2020
&22e08 30BAIT oS ISt @cdosadtod 2
(1) 2005 (2) 2015 (3) 2010 (4) 2020

4. Which Indian agency is responsible for Cyber Security ?
(1) RAW (2) CERT-In (3) ISRO (4) NITI Aayog

206 e D ePEHADH o3 ERGI S5a00 9
(1) o (2) 23e38-39 (3) 3R® (4) 8 esBrh

5. Which Indian nuclear reactor is used for research purposes ?
(1) Kaiga (2) Kudankulam (3) Dhruva (4) Narora

505655 PAreTre S0 D ook eew BArEEss EXABPATES ?
(1) 3 (2) SecKvo (3) oD (4) s&c

B

6. By which year has India pledged to achieve net-zero carbon emissions ? g

(1) 2040 (2) 2050 (3) 2060 (4) 2070

D 050 38 ErEEBE0 DES-5om) TGS ETed FRoSERS (g Iod 2
(1) 2040 (2) 2050 (3) 2060 (4) 2070

4 (A)
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7. Which of the following is an example of ex-situ conservation ?
(1) National parks (2) Wildlife sanctuaries QE:%
— . i i E o om
(3) Botanical gardens (4) Biosphere reserves

808 TIE ariry SOUEE SEFSe I8 2

(1) 2B emrgdsTren (2) SSgErene Loty
(3) FTerdES m3Sen (4) BT desbsen
) ) o

8. Which is India’s first national park ?

(1) Kaziranga National Park

(2) Jim Corbett National Park |
. ——

(3) Sundarbans National Park

(4) Periyar National Park

PEBBFS” BooggBooted erBOh emrgsHto I8 2
(1) seSoK erdah arrgHdso

(2) B0 SO O GI5IDIO
(3) Rootsbardy erdab amrgSEso E
(4) 2006 erBOD &S Hed

o]
A

9. The CITES (Convention on International Trade in Endangered Species) regulates
(1) Industrial waste

(2) Trade in endangered species
(3) Wildlife tourism
(4) Agricultural products

CITES (088003803 e8508° eosgdab Tredego » $57°390) eI Jcio@y00.
(1) FO@EAE SgTes

(2) ©oBOoRPTRy FH0E. T 50700 |
(3) :)835@“5’&3(5 é@’;eﬁo

(4) SgSAD esyoed E2E

10. How many schedules are there in the Wildlife Protection Act, 1972 ?
(1) 4 2) 5 (3) 6 @) 7
SSgErERe SEE 5630, 1972 &80 wErsden éamyow ?
(1) 4 2) 5 3) 6 @ 7

5 (A)
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11. The most common method of solid waste disposal in India is

12.

13.

(1) Incineration

(3) Recycling

EFOSBH0S" 308 ByTress FEIDoEEs IETACD edsos FEve $E8

(1) gysseso
(3) &28h

(2) Land filling

(4) Composting

(2) o5l ok

(4) SoFQoh

A sanitary landfill is different from an open dump because

(1) It does not require land

(2) It uses a liner system to prevent groundwater contamination

(3) It burns waste

(4) It is used only for plastic waste

60 er0&DS 8.5 0D KTy ASomT &0ewod JoiEoss
B L )

(1) &8 £ 5580 885

Q) 50TGEe Sty NTOCIEIE 96 Db xS0 SIETNR0D

(3) 30 SsTeso $°By0d

(4) 30 TRE 35T §Wo SrEhs &xd@rhosetsod
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(=2 [m]

The Solid Waste Management Rules, 2016, replaced which earlier set of rules ?

(1) Municipal Solid Waste Rules, 2000

(2) Hazardous Waste Rules, 2010
(3) Plastic Waste Rules, 2011
(4) Biomedical Waste Rules, 1998

PO S5re AgIes AaTew, 2016, Sooisosed O Damsrross 48 3o 2

(1) 3200y356 505 S5cre A0S, 2000

(2) EITEES S5ore JaHBres, 2010
(3) IH5 S5re Aosreo, 2011

(4) 2BrRdES J5Te AT, 1998

HE
ey
[=

SHa

(A)
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14. Extended Producer Responsibility (EPR) makes manufacturers responsible for EE
(1) Transporting waste EI':@?

15.

16.

17.

(2) Collection and recycling of their products after use

(3) Only producing biodegradable plastics

(4) Burning plastic waste

DR yIDODS Bresrsb By B0ed (EPR) Scsrbortiooss 3638 erggdess 308 9

(1) Sggems oorer Saheso

(2) ESETHo So° T8 edyieo LEoBEo Bobabo S8R Jabdo

(3) BTERGLS THEes S e8yd Babio

(4) T8 S5Te seEo

The Swachh Bharat Mission (SBM) was launched in

(1) 2012 (2) 2014 (3) 2016
5535, 765 2098 (SBM) 82 300 8058 505" rofotincod.
(1) 2012 (2) 2014 (3) 2016

The largest e-waste producing city in India is

(1) Mumbai (2) Bengaluru
(3) Delhi (4) Chennai
FEEBF0E eBBg S-Sy &8y B SN0

(1) Soo0B (2) Borerso
3) &9 (4) 33

The concept of a circular economy in waste management promotes

(1) Using products until they break

(2) Minimizing waste by reusing and recycling materials

(3) Sending all waste to landfills

(4) Banning new product manufacturing

358 Sorape WgErers” HTeS e 55y @ g5 D3 FP&erged
(1) &8 59050 & DNHS8ARs S8 edairiodEo

(2) Sorges B8R GSaTAowo $X0a0 28oh Baiio 7g0° DGO SNoweeo )

(3) & JgTeB DY (PPOTEORD D060

(4) T& &S0 Sard JaPoiito

E2E
st
(4) 2018
(4) 2018
EYE
e
(A)
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18. India’s first waste-to-energy plant was established in which city ? E%E}
(1) Delhi (2) Mumbai Sl
(3) Hyderabad (4) Bengaluru
ErEBBE0S" 30043006563 BT Kook 8 Joes B $16eE’ Fhosedod ?
(1) @& _] _ (2) 0003
() Tooerd (4) BorETrss

19. The Integrated Pest Management (IPM) approach focuses on
(1) Use of only chemical pesticides

(2) Eliminating all pests

(3) Combination of biological, cultural, and mechanical methods for pest control

(4) Increasing pesticide resistance in crops

e
T

3ee(EE 2] 36530065 (IPM) 5o 55 808 636" Be3p Gyhciotiood ¢
(1) ST HEM[00Ee TEEe SomEad

(2) @0y B TolosSto
2] 3

(3) Brows aoes §02, ok yBE DA AFOBE BEE ooy

(3) B0MOS DOTBo0E00 DB CEBH0 DOSED

20. As per India’s SDG Index 2023, which state ranks highest in SDG implementation ?

(1) Bihar (2) Kerala

(3) Uttar Pradesh (3) Madhya Pradesh
gr683% SDG 85795 2023 (S5°50, SDG es50end O THO ©SB5QE Ji50S” &0d 9
(1) 55 (2) 5%

(3) &35 (Pas (4) SoggEas

21. Which of the following is not produced from silk worm ?

(1) Sabra Silk (2) Eri Silk

(3) Muga Silk (4) Kosa Silk EME
oride

Eod TDSE" DeppBKHeE &S 3B D8 9 s

(1) D vex (2) 208 Bey

(3) Soorr Bexy (4) §F sexy

8 (A)
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22. The Central AGMARK Laboratory is located in Q%;@
(1) Faridabad (2) Nagpur Ei?
(3) Amaravati (4) Hyderabad
Do w6y erdBesd & Sods.
(1) boeerd (2) >n°6
(3) @SooHd 4) wooerd
23. Which of the following tribes is not a hunting tribe in India ? %?{%
A
(1) Chenchu of Andhra Pradesh (2) Meena of Rajasthan
(3) Kamar of Madhya Pradesh (4) Irula of Tamil Nadu and Kerala
2rESDFED Br Bod B, 3¢ BK 52O I8 ?
(1) SoRAES’D Joso (2) CeurSE W
(3) SoggRBE’ 8306 (4) ST 0800 SEFER oY

24. Which city is not a part of Golden Quadrilateral ?

(1) Hyderabad (2) Mumbai

(3) Chennai (4) New Delhi
RBS 52 BBESS” g 52 S B 2
a2y

(1) >oows (2) S208
(3) 33 (4) 575G
25. The primary cotton research center in Andhra Pradesh is located at %gﬁ%
(1) Nandyal (2) Guntur h
(3) Kadapa (4) Visakhapatnam
SoREEE’ @EE B8 365 Sowo 5080 oo,
(1) Soorge (2) Mootarsd
(3) .55 (4) JTPHeno

9 (A)
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26. Annamayya district is carved from parts of erstwhile and districts.
[m]2!
(1) Chittoor, Nellore "g}‘f%

(2) Nellore, YSR Kadapa
(3) YSR Kadapa, Chittoor

(4) Anantapuramu, Kurnool
€55y B 75D 3o0a%0 £ero gPITo 006G D5E0d.
(1) VBT, Serdd

(2) Serss, IMReb &5

[ 3) 30Resb 56, DBTD

C—
(4) 508950, S65me

27. Scientific name of Red Sandalwood is

(1) Pterocarpus indicus (2) Santalum album

(3) Pterocarpus santalinus’ (4) Santalum indicus

JABBosSo Book) FRADH TS0

(1) S6°s5\D 50850 (2) Foereo ey
(3) S8stS Joerdsd (4) Foereo 3085D
- [=2![=]
| . . =
28. Visakhapatnam Port is protected from sea waves and cyclones by the Olcs
(1) Rushikonda (2) Dolphin’s Nose
(3) Kailasagiri Hills (4) Yarada Hills
TP T B0 L9000 So8aKw Horsoe &8E Sood SOTFRD, SR ETDBa0
(1) 200h80d (2) &S S
(3) Sordnd Solien (4) asroeé STocéen
29. Sri Kalahasthi temple is located on the banks of
(1) Nagavali (2) Gowthami
(3) Vamshadhara (4) Swarnamukhi
Bl Ko 568550 Bk SEPo
O - g e &I&éﬁ
(3) So¥es (4) JggS0d

10 (A)
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30. “Krishna Sastri’s pain is the pain of the world; the pain of the world is Sri Sri’s pain”, (12
who said these words about Sri Sri ? g‘ >
(1) Devulapalli Krishna Sastri (2) Viswanadha Satyanarayana
(3) Nanduri Rammohan Rao (4) Gudipati Venkata Chalam
“HRTR WG BHOTRS e, (505D & B ere” e 3B, 080D e%d IS 2
(1) B0 HRTY (2) DETE DGO
(3) Dokrd TAFIS 7D (4) Ko&Ted JoEerSeo
31. Who was the nationalist poet to use the word Tenugutalli for the first time in Telugu nationalist

32.

writings ?

(1) Rayaprolu Subbarao

(2) Viswanadha Satyanarayana

(3) Gurram Jashua

(4) Kodali Venkata Ratnam

‘BHNOSY’ &S 5T BT Dol FHANTE SSE, GIBIACD A £ B ?

= B

(2) FFE DT o A0ER

(3) G0 T

(4) Sord Jose &0

On December 17, 1917, a delegation of 21 representatives met with Montague to request for
forming a separate state for Andhra from the Madras Presidency. Who led this delegation ?

(1) Kasinadhuni Nageswara Rao

(2) Nyapati Subbarao

(3) Konda Venkatappayya
(4) Gadicherla Harisarvottama Rao

1917 &0t 17 & Somrso BRED) $00 eosts HEY oFidy Do Sasred Feosy 21 500
BBV eyoio BToEIAK SDVEH. Sa HOVY e)oTrAS TAHELso 527008 5B 2 —
- ey

(1) 5Borgod TREETD g. :

(2) T5OD BRI

(3) Soae Joseadyaidy

(4) TABG FORT BB
11 (A)
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34.

35.

GS/OBAF/500

When did Potti Sriramulu lose his life while doing fast unto death for the forming of separate state
for Andhra ? EE
(1) December 14, 1952 (2) December 15, 1952 (]
(3) December 16, 1952 (4) December 17, 1952

S0 (SBE 075 Do §780 essiotien TS Y B Fred Forsaoeo My @reren
?éﬁj&i?d) ?

(1) &ob 14, 1952 (2) &ob 15,1952
(3) &b 16, 1952 (4) &Gob 17,1952

Which of the following statements related to ‘ Visalandhra Mahasabha’ is incorrect ?
(1) It was established in November 1949
(2) It was established by Ayyadevara Kaleswara Rao

(3) It was established at Hyderabad Y
(4) Its first meeting was held at Warangal in 1950 %?&gﬁ

Dol S0t K Soeafod 8o redS’ K058 DB ¢
(1) &5 %8 1949 S$0a8:8" Fhoisedod
(2) B 8 WOOBIG STHBORD TROTE

(3) & ¥ TECwrsS TBeBwdiod

(4) B8 35 &9 3553%0 1950 &° S5E0KSE” 26R00

Which of the following is not one of the reasons for the beginning of Telangana Movement in 1969 ?

(1) Failure in the proper implementation of Gentlemen Agreement after the formation of
Andhra Pradesh

(2) Assumption that the Andhras were exploiting the resources and the surplus income of
Telangana

(3) Assumption that the competition from Andhra in employment opportunities was leading to
unemployment among the Telangana youth

(4) AP High Court’s verdict that the Mulki Rules are not applicable after the formation of
Andhra Pradesh

1969 &° 8vorres 65500 (ES0EI0 SPHEPR8 &8 (308 Te38° S°8m0 8 DB 9 %i:&%
(1) So@EDBE AG)ES S078 BegBoBRe 25,007 BEROT eBows SabEed’ Bseso h
(2) Boorrer $560e0 580K, oKD SO0 o= Ssxﬁoﬁsoemm&éﬁ 80585
(3) &8 e Tos’ wol sod el Boore AusEE DG YTI TOBNFolS erss
(4) SOEEDE AG)ES Bo7S 509, Devotsdes $QoukR OB TE 3D Sy

12 (A)
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36. Who said that Directive Principles of the State Policy was “New Magna Carta” ?

(1) M. Y. Pylee

(3) B.R. Ambedkar

(2) M. K. Gandhi
(4) D. D. Basu

TR VP SrEred “TE D) S e 980 Ty 2

(1) do.3. g:;_é‘)

(3) B. e80. ety

(2) do. 8. ok
4) &. &. axdo

GET IT ON
Google Play

37. In which year, was the Child Labour Prohibition and Regulation Act made ?

38.

(1) 1987

o TG DGO 50050 AAOE? B0

(1) 1987

(2) 1985

1

(2) 1985

(3) 1986

o8 508 Jabhadod

)

(3) 1986

Which article deals with ‘Universal Franchise’ in the Constitution ?

(1) Article 325

(3) Article 326

(2) Article 320
(4) Article 324

Trersoliod ‘@S Len T, K080D D ©RETE0 BepBE0B ?

(1) eds8e0 325

(3) 2§55 326

39.

(2) 65830 320
(4) Q580 324

GS/OBAF/500
Py
Bl
(4) 1984
(4) 1984
e
i

Though he/she is not a Member of Parliament of India, but he/she is an integral part of Indian

Parliament — Who ?

(1) Prime Minister

(3) President

(2) Lok Sabha Speaker
(4) Deputy Speaker

BB/ &30 5B o0k NELyEd S5ye38, edo/eR0 TS FgRootnd’ wosoryio - B 2

(1) B 508

~,

(3) oo

40.

(2) &gy 256
(4) &rged 56

Who has the power to create new All India Services in India ?

(1) Lok Sabha
(3) President

(2) Prime Minister

(4) Rajya Sabha

58908 8 o oS POgIeR0 HRED BB o IH08 &b 2

(1) &Eses
(3) @Q@f@

13

2) S 50@

(4) oresgdey

okl
e

(A)
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41. Which Supreme Court Judge introduced Public Interest Litigation (PIL) ? BE
(1) P.N. Bhagwati (2) D.Y. Chandra Chud (]2
(3) H.J. Kania (4) S. H. Kapadia
(Pez (ScBoresss geso (PIL) D 380635 2008°63 Trgahbsesd JSes ¢
(1) 2.5, 5758 ) & 3. Sogsisrs
(3) 6. B. A (4) 2. 05, ErSay
42. The first Indian State which established Lokayukta in 1971
(1) Rajasthan (2) Andhra Pradesh
(3) Maharashtra (4) Karnataka —_—
TI71 & &'5a005m0 LoDk Boacses greBo ogo 98 2 e
(1) oresars (2) esoERaE
*
(3) ooy, (4) sores
—————— £
43. Which was the Commission/Committee appointed to study the Fundamental Duties in 1999 ?
(1) Varma Committee (2) M. M. Punchi Commission
(3) Rajamannar Committee (4) Sardar Swaran Singh Committee
1999 &° SrEu8 oo exsiariso oS D KBS /520 Dasdosedod 2
(1) 55 8068 (2) do. do. oD KBS

(3) crason 060 (4) 326 538 dof 52063

44. Which is the best measure of a country’s economic growth ?

(1) GNP (2) PCI (3) NNP (4) GDP

&8 037 598 5,00 Sose-08 &8s Fosrso D8 9

(1) Sgo 2r8ar8)3 |(2) Sodbemate  (3) W dITHY  (4) Rre G3ArEY

45. In India the liberal industrial policy was adopted in the year
(1) 1948 (2) 1991 ' (3) 1956 (4) 1985

PFESTHE’ &TUTE FOFWE DT D E5ododis HoSBo DB 9

(1) 1948 (2) 1991 (3) 1956 (4) 1985
46. Open Market operations of RBI are sales and purchases of
(1) Foreign currency (2) Trade bills
(3) Government securities (4) Corporate securities E'[E
RBI £25 ZSJ"@EIES S"Cﬁéé@’ﬁ“w ®ed3 D °&‘D@S‘M 08030 ?E&)ﬁﬂsﬁi‘. 9 E‘E@
(1) 233 53?3& (2) D‘”E’%B&S E:quc
(3) Eebss v (4) 58\3e5 2x78eden
14 (A)
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47. Devaluation of rupee in India was first introduced in the year LEE"@
(1) 1949 (2) 1966 (3) 1972 (4) 1990 Bl
TOSBH0S GFIP000 SIEE ook BACDDO IoGe3T O (53820630 Sose 5o I8 2
(1) 1949 (2) 1966 (3) 1972 (4) 1990
48. During a period of inflation prices should
(1) Increase (2) Decrease
(3) Constant (4) Fluctuate
B0 57008 8 o &oeran ?
(1) dSorde (2) siHGe
(3) Do (4) SnBeo
. : . : EIZE
49. Which committee was constituted for reforms in tax structure ? I:]i c3
(1) Narasimham Committee (2) Gadgil Committee -
(3) Chelliah Committee (4) Kelkar Committee
SEn® ByPRS BOBES § o DTG E063 9B 2
(1) 5820570 Eo0ed (2) &S 52063
(3) ook Soes (4) o5 5206
50. In which part of the Indian Constitution can GST be found ?
(1) 12 A of Article 366 (2) 12 A of Article 365
(3) 12 A of Article 364 (4) None
EP58 Tersoli) D eriod” SR SrENEy 9
(1) 3056 366 By, 12 A (2) €056 365 By, 12A
A— 5]
(3) 056 364 Book) 12A 4) D8 =&
51. Financial Responsibility and Budget Management Act was introduced in the year
(1) 2000 (2) 2001 (3) 2003 (4) 2005
PTQuS B, 1003 eok 5. FoueE300es 935;‘{)3 3 30538'525055 38 9
(1) 2000 (2) 2001 (3) 2003 ‘ (4) 2005
52. The Balance of Payments account records the inflow of foreign exchange on the _EI;%
(1) Debit side (2) Credit side s
(3) Both (1) and (2) (4) None of the above
e5BSy &P HBocedy grEe BB ST (555 oSBT ETHRY IHE ST Db ?
(1) a0 ID (2) B 3D
(3) (1) S08a%0 (2) Bossr @ 2 36 D D
15 (A)
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53. The portfolio investment by foreign institutional investors is called .@5:%
(1) FII (2) FDI (Bl

(3) SDR (4) FEMA

DB SORLNES BeREECr0 WEIOB Beardd Do DeoF s 2

(1) DB DoRLNES Vepeardarsoes (2) BB PS5y Deged
(3) @S5 Gomon I (4) DB8 5758 s 3630

54. Blue Revolution is related with
(1) Fish (2) Oil Seeds (3) Milk (4) Mutton
2O D50 BIE BooGOIS 9

(1) Isen (2) %55°3 Aceen (3) e (4) Srodo

- =5
55. M. S. Swaminathan was known as -@i%

‘{“v
(1) Father of White Revolution
(2) Father of Green Revolution
— - .
(3) Father of Pink Revolution
(4) Father of Purple Revolution

M. 8. S50 07850850 FPoRTED
M;ﬁ DD DT
(2) 08 IS DTHATVE
() T IPS DE SO
(4) & BB DTSV

56. The percentage of agricultural land is very high in all the following states except
{ (1) Sikkim ) (2) Haryana (3) Punjab (4) Uttar Pradesh

52 $08 @ Tl S o 4 TE0 TE I G0, &8 TRed’ Sy

(1) J3e () Fog (3) Soewres (4) &85 $a6

S0

57. Which is the bi N
‘ CREE

(1) Railways

est enterprise of the Government of India ?

(2) Postal and Telegraphs
anking (4) Shipping

grO8 (580878 J0BY wdE (HebSEon S0 I8 2

(1) B&sen (2) S Bo8a%w B IeHes
[ [%]
(3) ergodoh (4) 3)3:305

16 (A)
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58. The Wildlife Crime Control Bureau (WCCB) in India was established in :@3‘%@
E&
(1) 1992 (2) 2003 ‘
(3) 2007 (4) 2015

rESBES” 36 3D 350 %o’ .85%8" (WCCB) &2 808 80580res’ Frhoiiadod
[ = La_ 5 o @

(1) 1992

(3) 2007

(2) 2003

(4) 2015

59. Which National Park is famous for the conservation of the Indian rhinoceros ?
(1) Gir National Park
(2) Bandipur National Park

(3) Kaziranga National Park

4) Sundarbans National Park
(4) Sundarbans National Par ErE

i

TOBAD PESNTO SOUEED (NG ToBES S &S0 I8 2 B

(1) A8 Jusd 8,
(2) 2083578 38356 8,
(3) =80k 3556 F0), ‘

(4) B0otEySy 3356 6,

60. The Government-led initiative in India that provides a secure online platform to store and share

digital documents is

(1) KYC (2) BHIM
(4) Aarogya Setu

(3) Digi locker

&e206 TrgRootyso Doy SUHEDS Bo0aK0 BoBE I HSFEFR GBS JeTT 000 @003

TOSBHO (4SS IyB0E' T8I gf{%
]
(1) KYC (2) BHIM
3) & o5b (4) eBrg 0
17 (A)
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61. The Government of India initiative that helps users identify and remove malicious software and
botnets from their devices is E'g;*'EI

(1) Cyber Swachhta Kendra Ofed

(2) Indian Computer Emergency Response Team
(3) Cyber Surakshit Bharat
(4) National Cyber Crime Reporting Portal

ABrRoroen S50 SO50°0 $0d TEES FPIS B0k FeSIeSoso 80D FoRosedS

P

DIPAHNE e (ghds TES

(1) 226 Qg oo
(2) RoGADHS Sorgead 53Ry B ySy 350
(3) 2eb Bo8gs gred
(4) 3356 2eod 350 8Ioh AYS

62. What does the Pradhan Mantri Jan Arogya Yojana (PMJAY) aim to achieve in India ? “:ﬁ?_ﬁ

(1) To reduce the number of health care workers

(2) To provide health insurance coverage to economically vulnerable populations

Tl"o eliminate all private hospitals

(4) To improve public health education only

ETOEBE0S" (PGS B0 35 &by Gress (PMIAY) D6 00 0F5orT BERKoD 2
(1) e85 do85e 50,500 Soggio BRowsko

(2) espsom DIOTSOT w?ég BT O D5 €535 eodosSto

(3) &y &3&3 e Sofowto
(4) (EerBig Desgio ST JoEMLISE0

[=]2[=]
=5
63. Which Indian city is known as Space city ? =
(1) Trivendrum (2) Bhopal
(3) Sriharikota (4) Bangalore

2 GTEBAD SHOR) WoBBY SHE0 e DEoEd 2

(1) @S ) &>

(3) 368 (4) BoKETS:

18 (A)
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64. Which of the following is one of the largest public health programmes of free vaccines targeting

oo
RS

children and Pregnant women ?

(1) Rashtriya Swasthya Bima Yojana

(2) Universal Immunization Programme (UIP)

(3) Swachh Bharat Abhiyan
(4) Pradhan Mantri Jan Arogya Yojana
2000 5805 KOy JER0 oo SHER &S s Book, BB Ferbry STESTS” B $od

T8 0.3 DO ¢

(1) oogom rggs DIF/Bresd

(2) @5 ERATES sgEsoo (UIP)

(3) g3y O DAPS

(4) B B0 e &b 1y e

65. A car travels 150 km in 3 hrs. The time it takes to travel 750 km more with the same speed is

(1) 5 hrs (2) 10 hrs (3) 15 hrs (4) 20 hrs

2.8 585 150 820, 3 Kotwd® BareioDsd @ $58° 750 8.2, 6 3188 Bairedotund 5

D0a3o00

(1) 5 Kotoewo (2) 10 Kotden (3) 15 Rotoen (4) 20 Koexen

66. Find the next term in the following series.

RNQPOM, NPROMQ, PONMQR, OMPQRN,

(1) MPOQRN (2) MQORNP (3) MQPONR (4) MRONQP
e
5o (200 B3 BB H0 K35 s, %3

RNQPOM, NPROMQ, PONMQR, OMPQRN,

(1) MPOQRN (2) MQORNP (3) MQPONR (4) MRONQP
19 (A)
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67. Statement : All dancers are artists. Some artists are painters. Ee]
L,
Conclusion : 1. All artists are dancers. Eﬁ?

II. Some painters are dancers.

Then which one of the following is correct ?

(1) Iis true and II is false (2) Iis false and II is true
(3) Iand II both are true (4) I and II both are false
(PRWO0 ¢ Dy STE0L0T® EFSPEoew. S0 Sood Sersetons JEseEoen. %J%
SR : I. @068 SEHoen $Bsstoen. B

[I. §'o8 Sood Bs"toen Sydssdoen.
@008 &: $od TS DB ¥ 2

(1) 15850 50005 1T eidsso (2) T e sobake I %50
(3) I50Bc%w Il Bodsr 550 (@) T55000 11 Sotar erso

68. 12 men can complete a work in 16 days. In how many days will 8 men complete the same work ?

(1) 18 (2) 24 (3) 20 (4) 6
25 30D 12 S000 eiven 16 Sered 578 I, &8 3D 8 S008 Htbives ) Seros® 570
BT 9
(1) 18 (2) 24 (3) 20 (4) 6

69. A father is twice old as his son. 8 years back their ages were in the ratio 8§ : 3, then present ages
of father and son respectively are ][]

EorE: P

(1) 46 years, 23 years (2) 36 years, 18 years ‘@ét{'ﬁ
(3) 50 years, 25 years (4) 40 years, 20 years

8.5 Bo(G JAY) @B KT SN Tedoid. 8 $0580°0 $80 0 SAHBne Yy 8 1 3 wowod
oo So|d SoBakw HSrde DAL SEORT Jo 2

(1) 46 3o, 23 Soi (2) 36 o, 18 Zoll
(3) 50 o1, 25 Dol (4) 40 2o11, 20 2ol

70. A dealer sells a notebook for ¥ 39 and gains as much in percentage as the cost price of the notebook,
then the cost price of notebook is

(1) ¥ 28 2) I29 (3) ¥ 30 (4) X34

28 30 2.5 50 DTN 39 H ity io T T £ JotH SEFHR0 CEed) Fotosomyto
w08 & T H3Eo §8) 3o

(1) 28 (2) ¥29 (3) T30 (4) I 34
20 (A)
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71. A shopkeeper marks his goods 10% above cost-price, but allows 20% discount for cash. What is

his net loss percent ?

(1) 12% (2) 8% (3) 10% (4) No loss

&8 OSPETPEy 29RO ;L: [EES I 5“553‘ [0 10% @&L;’) DOECTED. 5°0) &8 DD :..2 20%
SAOD FIToyhd. @D eBdE 33y VG S5, 7°F0 Do 9

(1) 12% (2) 8% (3) 10% (4) S0 B
Directions gﬁ'ﬂ
ir : 3

b

The following questions (72 and 73) contain four sentences which in their present arrangement
lack coherence, connection and development. There is only one way of rearranging them to make
a coherent passage. Choose the correct arrangement from the alternatives given and mark your

answer as 1, 2, 3 or 4 in the answer sheet.

Séé&b:m :

808 (55,08 (72 5800 73) 575 Teulid T80 SOAAHD. T3 (RS E305008" & T575ed’
2 DTS DRSO TR, HOLIOEH0 D), D550 570 BEd. T¢I B500D), 2.8 E3035006" 2eIi5yei
S8R0 25035 Cba0Ne HOTEH0N” JyEaTreo. Bols SIS ESoB008" OO NS,

Do S35 1,2, 3 8o 4 N BHFGS S@@ed” KHdoisod. EYE
RIS
i’é’] 2
72. a. He has two sisters and one brother.
b. He took responsibility for the family and made them all well settled.
c. His father died due to ill health.
d. Raju is the eldest son in the family.
(1) adbc (2) dbac (3) dach (4) dcab
2. ©BVL O €8, DBy SO0 8.8 DB &, EE
- Eha

b. estheso 56008 eT¢igBRd A EB0D, GOSN PEBOTED.
c. @S Sod WG o JQ SNV,
d. ooer &5 Soeoowos’ B S

(1) adbc (2) dbac (3) dachb (4) dcab

21 (A)
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73. a. Among them, more than 60 are poisonous whereas forty plus are mildly poisonous and

about 180 are nonpoisonous. g%‘fﬁz

b. The Indian cobra is one of the feared snakes in the world. EE®

74.

T

c. Snakes are reptiles.

d. More than 300 snake species are there in our country.

(1) cdab (2) abced (3) badc (4) dbac

2. A3 60 3 21 INJTOSID, 40 § DT K INYOBToSD bk 180 S6%H D60
SP.

b. (330508 8 FaBeEERS FSwes’ grEBab TRTEN 8k,

c. S0e0 bHyren.

d. 555 3%08° 300 8 2P 50 ePdono &0,

(1) cdab (2) abced (3) badc (4) dbac

The population of a village increased to 44100 in year 2003 at the rate of 5% annum. What is the

population of the village in year 2001 ? g%
Er®

(1) 39250 (2) 40200

(3) 38000 (4) 40000

ROSBTRE 5% Bewd o8 &b ey 2003 50355008 44100 5 20R0E. @000 2001 S0585es”
&5 &80 23R DO 9

(1) 39250 (2) 40200
(3) 38000 (4) 40000

Cost of 5 pens is equal to cost of 8 pencils. If cost of one pencil is X 5, then cost of 7 pens is

(1) T 56 {2)¥ 35
(3) T45 (4) T 40
. o o - . “ [E2E
5 2300 9O, 8 2yH) PO MITS0. 2.8 NS 960 T 5, @0ass 7 250y0 PO o 2 2
(1) ¥ 56 (2) T35
(3) T 45 (4) T 40
22 (A)
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PART - B
GENERAL SCIENCE AND GENERAL MATHEMATICS

76. Which of the following is the correct sequence of ecological organization from smallest to largest ?

(=1 5!

Em]
(1) Ecosystem — Population — Community — Organism — Biome :‘ﬁ;

(2) Organism — Population — Community — Ecosystem — Biome

(3) Community — Organism — Population — Ecosystem — Biome

(4) Population — Community — Ecosystem — Organism — Biome
808 Te36° DO VB 5308 DL JBE> ST9es Jgig B0k, $BWS (E300 2

(1) Borg0es S5 — eyl — do00 — 8D — St

(2) & — eswrgr — P00 — BOEHE BgY — STHOE0

(3) Soso — £ — WY — IOEHE S5 — i letarte)

(4) esargr — Booo — DO g — B — B0

EYE
77. Which of the following is not a component of an ecosystem ? ‘E‘E:ﬁ?
(1) Producers (2) Consumers
(3) Decomposers (4) Evolution
300 TIE’ DO JogHCEs B5NHE” gFM0 S0 9
(1) &ydodoe (2) ABHTE0
(3) z);ﬁacxm (4) $Bees00
mE
78. Which of the following organisms is a primary producer ? [

(1) Lion (2) Deer (3) Algae (4) Eagle

808 £:Hos’ DO DELE &SI 2

(1) doseo (2) o8 (3) =& 4) ax
23 (A)
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o
;5%

55 ¥

79. What type of ecological pyramid can never be inverted ?

2! [=]

(1) Pyramid of Biomass

(2) Pyramid of Energy

(3) Pyramid of Numbers
(4) Pyramid of Productivity
D BER08 30550 ROWESS 251638 DE°S0 HBE SresBsw ¢

(1) 2Brs3rD Dok

(2) 3§ 26&

(3) Horge EWE

(4) 6!3@'2,556‘5 335;1.’)(5 (®]& ]

80. Who introduced the concept of Biodiversity Hotspots ?

(1) Norman Myers

(2) E. O. Wilson
(3) Charles Darwin
(4) Aldo Leopold

S5DDG5 D55 BT BB DD RIFVeLS> 2

(1) &S Doaby

(2) E.0.29y5

(3) =38 &S

oo
e

81. How many biodiversity hotspots are there globally (as of 2023) ?

(1) 15 (2) 25 (3) 36 4) 50

(BHoUTgHoNe Ay BB PeSryeSeo ey (2023 Teed8) ?

(1) 15 (2) 25 (3) 36 (4) 50
24 (A)
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82. What is the greatest cause of biodiversity loss ? g%‘%
(1) Climate change (el
(2) Habitat destruction
(3) Invasive species
(4) Over hunting
25355 SLV8 B s°8e0 083 9
(1) Tros8e S8
(2) &% G500
(3) SooeESoes erdboen
(4) ed Jereeo
SHE
83. The Ramsar Convention is related to the conservation of E]”E"%

(1) Forests (2) Wetlands
(3) Marine ecosystems (4) Deserts
o755 535550 263 HOSFENE Hoe0oRoRBE
(1) e (2) DB Joeo
(3) BB DorgH0Es Dy (4) zto

84. The UN has declared 2021-2030 as the Decade for
(1) Wildlife Conservation (2) Sustainable Development Goals
(3) Ecosystem Restoration (4) Climate Change Mitigation
285050 2021-2030 &7°er) Se Sod Szrgore (B5edo0od g;{ﬁl
(1) SS5Eren0 Pote (2) 3305 DY oFse o
(3) Bo7gH0Es D DHCOGOE (4) TTH0es S8y RO

85. As of 2024, how many Biosphere Reserves are there in India ?
(1) 12 (2) 18 (3) 20 (4) 25

2024 38, grE8B%08" IR BTTRNO0E Besbien &m0 ?
(1) 12 (2) 18 3) 20 (4) 25
25 (A)
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86. The Gulf of Mannar Biosphere Reserve is known for g [x]
(1) Coral reefs (2) Grasslands B
(3) Alpine forests (4) Desert ecosystems
S0y6 Ny e0@Brinyaib Besbs Se38 | PG Jodod ?
(1) [HED Benew (2) KG grsooen
(3) e uw (ST (S0) (4) 20 30'45:{3683 355;5@&13
87. What is the People’s Biodiversity Register (PBR) ? %?E'
(1) Alist of protected forest areas |
I (2) Arecord of biodiversity at the local level |
(3) A government record of endangered species
(4) A registry for wildlife conservation NGO’s
5 596y 2933 BrEsS Qwéj 02235 (PBR) es0&3 D0e3 2
(1) 588 et @Frozre e
(2) TIN5 Fowd” S5V O
(3) o880 LDy &0 (HDebSe 5 05°C
(4) SvgRrene Sotge NGOe §so 68
88. The Nagoya Protocol, related to biodiversity conservation, is associated with
(1) Climate Change Mitigation
(2) Genetic Resources and Benefit Sharinu
(3) Wildlife Protection
(4) Sustainable Fisheries
" EYE
L5 IBTEERD 008000 SFAT FFeTsE & 208 636" 636 S00A5E &0d 9 Els

(1) 50 5780 Shodd

(2) 2oy SBToe SoBAN (PABTET O FFNE50

(3) ISgErev SFee
(4) QO30 Sodyg 03¢

26

(A)
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89. The permissible noise level in residential areas during the daytime in India is gfi:%
O

(1) 35dB (2) 45 dB (3) 55dB (4) 75 dB

o588 SHeSPTer I (FoTeS” eiosoBoUSEAS F o o8 9

(1) 35dB (2) 45 dB (3) 55dB (4) 75 dB

90. The National Air Quality Index (NAQI) in India measures which key pollutants ?
(1) Only Sulfur Dioxide (SO,) and Nitrogen Oxides (NO,)

(2) All greenhouse gases

(3) PM

PM,,, CO, SO,, NO,, O, and NH,

2.5
(4) Only Carbon Dioxide (CO,)
L (=12
FESBH08" B ok Tesgs 5708 (NAQI) D S0 ooy sosems Seosyod ? E?‘%
h‘l.
(1) 38 &S (SO,) $08a00 JeSewd &8y (NO,) SBd
(2) &) fiS TR Traboden
—
(3) PM, ,, PM,,, CO, SO,, NO,; O;, 5855 NH,
(4) 58S EArE& (CO,) S
91. What are transgenic organisms ?
(1) Natural plants and animals
(2) Organisms whose DNA has been modified with genes from another species
(3) Organisms that can survive in extreme climates
(4) Only bacteria
&
esi3og 57°0yG Bipe wodd D2oed 2 EbeE:

(1) S57es IJooB)e0 $o0dK0 ezoBoRDL0

(2) 555 2@ 5305008 DNA 85005283 oo
(3) BES TTsEres” dlosie Sved
(@) ergfoatr SEd

27 (A)
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92. The Paris Agreement aims to limit global temperature rise to
iy I'e (2) 1.5°C i (3) 3°C (4) 5°C
TR 200 (E90 GRS DB O Q.Og 580 DA eFgom 20D ? %%‘g
(1) 1°C 2y 1.5°C 2] 3¢ (4) 5°C -
93. Acid rain has a pH lower than
(1) 3.0 (2) 5.6 (3) 7.0 (4) 9.5
559 50 pH Deos B Ko&) S &otaod.
(1) 3.0 (2) 5.6 (3) 7.0 (4) 95
94. The largest ozone hole is observed over
(1) Africa (2) Australia
(3) Antarctica (4) India E¥E
R
&8 ¢ 88550 Sogio O Progod’ Kodoseadod ? Elﬁ
(1) eds (2) ﬁ_sc.;@oay
(3) woergds (4) 58830
95. How does ocean acidification affect marine organisms ?
(1) Strengthens coral reefs
(2) Reduces shell formation in marine species
(3) Increases fish populations
(4) Reduces water temperature
R500(¢S esE0Es SB00(ES 59O Jer EErdBo Brod 2
(1) SJRED @awm 2OHE00
(2) IS0 wa,ué‘ 26 A6y SRS
(3) e eorgrisy Dototod
(4) e3 e (1880 SRS
96. The Montreal Protocol (1987) is related to
wzone layer protection (2) Carbon trading
(3) Rainforest conservation (4) Desertification control EE
R
370EdoHS BreS’sS (1987) &s 308 3IE° BIE 508000 2 of
(1) 28°S 5 o5 (2) S Fgrso
(3) So8es50 SO (4) 5558 Joxoses
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97. Which was the first major international agreement to address climate change ? %’i‘m

Ok
(1) Paris Agreement :
(2) Kyoto Protocol
(3) Montreal Protocol

(4) UN Framework Convention on Climate Change (UNFCCC)

TTDCE? STONOR SOROODTRS NOYG S000es B eao@o;Mdo 08 2
(1) J0R edyoso

(2) ES @SS

(3) Sror3onHd keSS

(4) oo 576N UN 35056, 5395 (UNFCCC)

mym
98. The Bonn Challenge aims to gtﬁi

(1) Reduce CO, emissions

(2) Restore degraded and deforested land

(3) Promote industrialization

(4) Encourage coal usage

e T80 ook (BEFS ©F50 JDoed«2
(1) CO,emoom Bfowsto

'(2) §£30055 3000500 e56ad AT 118 GIFR HIBEBoBEO
() S OR IoSS0ER0 (& By ronto

(4) &1 BTy RS Rroio

99, The species that show a erucial role in maintaining the structure, function and biodiversity ofits

ecosystem are
(1) Keystone Species (2) Endemic Species e
(3) Foundation Species (4) Flagship Species

D B Gen Sgiy ook, Domyeso, SABGH $o80ho BSFDFTY AgAronod” dus
S D eroen

(1) &RES erdowo (2) LS erdoed
(3) DT erdo (4) P erddoen

29 (A)
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100. Which human activity contributes most to the global warming ? E[E
(1) Wind energy production ‘é;{%
(2) Solar power production

(3) Planting trees

(4) Deforestation and burning of fossil fuels

RS TOOR D BT SO5ETe0 IR & SLBEE 00 2
(1) 253 98 &9

2) 2 3(50595 %@;%

(3) Beoiso Treatso

(4) et AETyeB $oBAk0 e ROGTe 750

101. Which program aims to provide clean cooking fuel to low-income households in India ? gfgf
(1) Pradhan Mantri Awas Yojana Dl
(2) National Electric Mobility Mission
(3) Pradhan Mantri Ujjwala Yojana
' ational Cnergy chiciency Acuon Plan
ePESB¥SD ¢ BE ST Sob0erod a‘:@ﬁm 0L FOHT ) @oloiko eFgon DENBIDY
S5 ES00 20 2
(1) $5°5 S00@ e @Bresd
(2) edADH ;)@55 Ses808 DB
(3) TS Joo@ &ego BTeS
T(8) =B 050 Vol SO0 RETYS
102. “Black Foot” disease in human beings is caused due to use of water contaminated with
(1) Mercury (2) Cadmium
(3) Silver (4) Arsenic
Sr5ed By Fore” 750 SIF SeolERon VeI EXd@rhosto g $5308.
(1) r&830 (2) 7o
(3) 3o (4) eﬁqj?;'g
. : : OFAD)
103. The main constituents of Bio-gas or Gobar gas are ‘E*‘[&‘?}
(1) Methane (2) CO, and Hydrogen
(3) Nitrogen and Hydrogen Sulphide (4) All of the above
ABr-1r5R B Aed R ool B grmren
(1) 85 (2) CO,so0ak0 rEesd
(3) eSS BB T Eesd ¥y (4) 23N
o =
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104. Match the following : Qs;%
Type of litter Approximate time to degenerate the litter —
A. Paper I. 1 year
B. Woolen items II. 10— 30 days
C. Tin, Aluminum and other metal items ITI. 1million years
D. Plastic bags IV. 100 - 500 years
() A-LLB-I,C-1II,D-1IV
2) A-IILB-LC-1V,D-1
3) A-I,B-L,C-1V,D-1lI
4) A-I,B-III,C-L, D=1V
L
308 TN $0Fey0k. o
3 B%0 D& Se3oBBE LR LB MEae
A 35 . 1 Jo58y80
B. &y S39e0 II. 10— 30 &'eve
C. €33, eorgodabo $:0chy 58t & Siopes M1 1 2AHS sossowes
D. 25 Soioed IV. 100 — 500 Sos&yoren

(1) A-L,B-IL,C-I,D-IV
2) A-IILB-L,C-1IV,D-1I
3) A-I,B-I,C-1V,D-dlI
4) A-ILB-IILC-L D=1V

105. Which marine organisms are at risk from ocean acidification due to their dependence on calcium
carbonate to form shells and skeletons ?

(1) Snails (2) Sea urchins

(3) Oysters (4) All of the above

1065 30805 epoecres I8y EerdS s*Yoko 9533:&5:.2 SEPEHE0 SR DB esDESE

B0red” édy S0 Bpeo SRbed 2 e
E

(1) S8eo (2) 3B 0y

(3) roged (4) 2% 28BS
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106. What s the role of the United Nations Environmental Programme (UNEP) in the context of ozone
depletion ?

|

B
FE

Pl

(1) They focus solely on reducing carbon emissions
(2) They develop technologies to artificially replace the ozone layer

(3) They promote the use of ozone-depleting chemicals

(4) They monitor and implement international agreements like the Montreal Protocol

885" devd BoB8y0E’ BETRegRHRS FTgstes SsES00 (UNEP) Srig doe3 2
(1) T TGS &mTroms SAoWHE0D HPEBR0 GG
2) T LES O3 §BSoor 858 DOPEE oSHETeS ©DIY DA
L o CHiat il

(3) T £ES $e303 ST TESR) DIEEr

4) T8 S30r3aHS DFeSEeed $063 oBEROD LNOTEOB) DRI SoBaK OOV
{ € % N SN '

107. Match the following diseases and their modes of transmission. Q‘q’%
A. Cholera [. Spread through blood or body fluids B
B. Hepatitis A II. Vector-borne transmission, typically through mosquito bite
C. Influenza III. Transmission through food and water
D. Malaria V. Airborne transmission, typically through droplets from cough
or sneeze

() A-IILB-LC-1V,D-1I
2) A-1IV,B-LC-IIILD-1I
3) A-1IV,B-III,C-II,D -1
4 A-1ILB-IV,C-I,D-1I

E2E
208 Tgioen S08ck T3 EIC DB SoF 0. Eher
A. Soo [. 550 ST 888 (5o T0° Tge BOEIB0D
B. 38R A 1. 356 orgo° DoENOT (S0, FrsEscr & S0 To°
C. 330y Joe 1. es55°0 500Gk Ned T HoEARe8
D. 50800 IV. ™0 o0 $oE00B (SIS0, FErEesorr &ify Bar ooy 3006 53y
Alelabiy) Ry o

(1) A—-IILB-1,C—1V,D—1I
(2) A—IV,B-1,C—II,D—1I
3 &~V B—HI, C-1,D~1
(4) A-NILB-1V,C-1,D-1I
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108. Which of the following is not a renewable energy source in India ?
(1) Solar Energy (2) Nuclear Energy (3) Hydro-power (4) Wind Energy

800 T3E" DB GFOSTFE” VTS oGS SV S 2

(1) o8 (2) oross )3) ot (4) 555 98
109. Which of the following is not a type of biodiversity ?
(1) Genetic biodiversity (2) Population biodiversity
(3) Species biodiversity cosystem biodiversity
300 38 20 S5IVE50 TG 2
(1) esdog 2536550 (2) esegr a%asas_:)qﬁgo
(3) erdoo E53D50 (4) SoegSes S5y BSIVE50
M
110. Which is the [argest solar park in India by installed capacity ? %Eﬁ@ﬁ
(1) Bhadla Solar Park, Rajasthan
) Rewa Solar Park, Madhya m:sh
(3) Pavagada Solar Park, Karnataka
(4) Kurnool Ultra Mega Solar Park, Andhra Pradesh
POSRYS” edg AV oS FE.OS 2
(1) &z Ferd ), oesrd
2) o FOD T, BoGsEes
(3) > Ferb FE), Seos
(4) S8 v Sorr Ferb F6), o@RaE EE
111. What is the primary objective of the PM-KUSUM We ? EIE‘%
(1) Promote urban solar power (2) Provide subsidies for solar irrigation pumps
(3) Build large hydropower dams (4) Reduce dependence on wind energy
PM-KUSUM 5550 G308, (o8 efso Joed 2
(1) Deger T8 DeSogtioiso ESyraustso (2) 6 AIF S0 SopeH $Dben eolosto
(3) ¢ a0 sogd essELOR DofoBEo @) 558 5 p Sp0oGer) Shoto
112. Where was India’s first waste-to-energy plant established ?
(1) Mumbai (2) Delhi
(3) Hyderabad (4) Bengaluru EYE
POBBF0S” BogB00csed J5Te $908 ¥8 &G B ol I Tdoseded ? 2hel
(1) 2008 (2) &2
(3) Z;j“’CSO‘EJ’(E (4) Boorso
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113. What is the goal of PM Surya Ghar Yojana ?
(1) Promote biofuels
(2) Install rooftop solar panels in urban areas
%) Electrity villages
(4) Expand wind energy
BE5500@ $0°8g 556 Bresd s el 2
(1) 235 gogoreso L@*@gboécﬁo
(2) 58 @FromE 28Dy 2 TO HoSTOR Doye Do
(3) (FaTos DEoghs0e BOkGEo
(4) 5% 48D oo

114. Acid rain is caused by the reaction of water with

(1) Nitrogen Oxides (NO,) and Sulfur Dioxide (SO,)
(2) Carbon Dioxide (CO,) and Oxygen (O,)

(3) Ozone (O,) and Helium (He)

(4) Chlorine (Cl) and Methane (CH,)

€550 80 638 Ved PHBTg DB SO 2
rr——

(1) 35S 6853 (NO,) 5005 m&\M(SO—)
@ S5 csowaﬁ (CO,) 30ba%® eﬁ%e&s 0,

(3) &&'5(0,) 55805 Srda%0 (He)

(4) 05 (Cl) Bo0a0 23S (CH,)

115. Which of the following microbes is commonly used in oil spill cleanup ?

(1) E. coli (2) Pseudomonas putida
(3) Saccharomyces cerevisiae (4) Rhizobium

B0t Dotiero DERSSES” Frstson eSBTAoD SrEdeo D ?
(1) &2 59 (2) ST AT Dl
(3) FSE°B0D JTIHAL (4) SF o

116. Which state is the largest producer of Copper in India ?

(1) Rajasthan (2) Andhra Pradesh
(3) Madhya Pradesh (4) Telangana
oSBT eigdSor O°h &ihd IV ogo I8 7
(1) @ﬁﬁ;é (2) ‘&.SO@@E‘E:%
(3) mcﬁin@aé (4) Boorres
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117. The sum of squares of two consecutive even numbers is number 452. The numbers are _IEIAE’%
(1) 10and 12 (2) 12 and 14 (3) 14and 16 (4) 16 and 18 Bl

oo B 550 Sopse ITe Rootios Mogy 452 e00usT, &8 dopgen
(1) 10500012 (2) 12558050 14 (3) 14 5005 16 (4) 16 500050 18

118. Out of two concentric circles if the radius of outer circle is 5 cm and its chord of 8 cm is a tangent

to inner circle, the radius of inner circle is cm.

(1) 2 (2) 3 (3) 4 4) 5

Soti> 25 S0 JyEred® ariry B0 THPo 5 om $oB0h Ty B0 Bk, 8 om ey woss
BTS00 950 G0N oS HHE TS0 0.2

(1) 2 (2) 3 (3) 4 @ s

119. If a wheel makes 140 revolutions in covering a distance of 44 km, then the radius of the wheel is
approximately. ]
(1) 48 m (2) 50 m () 35m 4) 26m ohe

25 HEo 140 © D0Esoeasnd’ 44 8.20.00 BOAS S(Eo B0y, TG0 BRSO

(1) 48m (2) 50 m (3) 35m (4) 26 m

120. The pictorial representation of data in the form of vertical or horizontal rectangles is called a

(1) Histogram (2) Pie diagram
(3) Bar Graph (4) Frequency polygon
§Q) GTrozre DBHe $EN 3Y 8 §8e &Y $BoTES50eT S5 oA 080,
(1) S Vo (2) 2 dBo
(3) &rb Heo (4) TSy 0L
EI2E
121. The Median of data values of n observations is if n is odd. '@ié‘{
s n-3 n+3
iy 2 @ &t G == =) R
2 2 2 2
n 82 D0y WOBBED, N BE0Te HOBOS Jeose Sogstisso
_ n-3 n+3
(ty 2 @ &+ @) — @ 2=
2 . 2 J 2 2
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122. A small unit of a factory has 5 employees : consisting of a supervisor and four labourers. The workers
earn a salary of Rs. 5,000 per month each while the supervisor gets Rs. 15,000 per month. Then the
mean, median and mode of the salaries is ; and respectively. g%’%
(1) 7,000, 2,000 and 5,000 (2) 6,000, 5,000 and 5,000 B
(3) 7,000, 5,000 and 5,000 (4) 5,000, 5,000 and 3,000
@00ENE & 5000 &y &8 :ao;és 2580 3026, B0t S0yEe0. 5788 18508 Jok
5,000 5300 080k B3t Je 15,000 S850 wond, STre B, Boglido o0k
erIToEFso
(1) 7,000, 2,000 5:6a%0 5,000 (2) 6,000, 5,000 Zo8a%e 5,000
(3) 7,000, 5,000 5o8c350 5,000 (4) 5,000, 5,000 =5o6a%0 3,000

: " : =[]

123. The relationship between the three measures of central tendency is E'ﬁ :‘@
(1) Median = Mode + Mean (2) Median = Mode + 2 Mean '
(3) 2 Median = Mode + 2 Mean (4) 3 Median = Mode + 2 Mean
S00°65> SoBad (358 S0 © Bogy Bowoo
(1) Sogghiso = ergro¥so + e (2) Sogghdo = eryodso + 2 drsew
(3) 2 JoQgliSo = oo + 2 Dhes (4) 3 Bo@ghigo = ePERoFE0 + 2 SHeN

124. A wall length of 48 m, 0.4 m thick and 5 m high is constructed with the bricks each of dimensions
25 em * 16 em % 10 em. If mortar occupies 1/10% of the volume of the wall, then how many bricks
are used in constructing the wall ?

(1) 28000 (2) 21600 (3) 24500 (4) 30500
48 5. Desd, 0.4 2. 500850 308 5 D, I8 Ko 2.8 7' qensed Agjosndod. @38 g8 Tod
252025, x 16 0.5, X 10 20.2055°6 5035 $057e308° 1/10 35 S0t IrgE esEoodss, & e
Do7£308° ESBFACDD LT SoPs Jod ?
(1) 28000 (2) 21600 (3) 24500 (4) 30500
125. The ratio of the areas of two similar triangles is 49 : 121. What is the ratio of their perimeters ?

| 3 2) 21 3 : 121 4 233
(k) 711 (2) 21: 22 (3) 49:1 (4) 14:3 %%!E!
Botss BETs (Bgbere 7o A38 49 1 121 waod Tred Hoty Todo IHB o8 2 DR
(1) 211 (2) 21:22 (3) 49: 121 (4) 14:33

36 (A)


https://applink.adda247.com/d/XhqWf9lSap

Addazi

% GS/OBAF/500
126. The value of(5+2\/g) +(S—2\/g) 1S El:!ifs
(1) 890 (2) 970 (3) 1050 (4) 1250

(5+2\/€)3+(5—2\/€)3;>m:)

(1) 890 (2) 970 (3) 1050 (4) 1250

127. What will be the area of the largest square that can be cut out of a circle of radius 10 cm ? _Bg'&[_.ﬂ
-;.'.5.::_5

(1) 100 cm? (2) 200 cm? (3) 300 cm? (4) 400 cm?

10 20.20. T5rg0 Ho BB 008 ey S0 800D BB & IWER FFego J08 2

(1) 1003007 ) (2) 200%0.0 (3) 300 20.2.2 (4) 400 20,52

128. In AABC, AD is angular bisector of ZA, meeting the side BC at D. If BD = 8 cm and BC = 12 cm,

then AB : AC is

1), 2 1 2) 1:2 (3) 2+3 4y 312

AABC & ZA @%) 88 S'ea 550890655 O AD 36¢3 gdeso BC D D 55¢5 podoisois. BD =8 0.5,

308050 BC = 12 20.20. @oxs AB.: AC

(1) 2: 1 ) 1:2 3) 2:3 @) 3:2
' 1 ! s
129. (1000)° x (0.04)2 —(0.027)* =2 Bl

(1) 1 (2) 0.9 (3) 0 4) 1.7

L ! 2
(1000)* x(0.04)? —(0.027)3 =?

(1) 1 (2) 0.9 3) 0 4) 1.7
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130. In the figure given below, / || m and p || q. What is the value of x ?

N S

P

(3x +4)°
¢ / >m
XD
(1) 54° (2) 42° (3) 44°

o8 565008 1] m 350050 p || q &0 3cedod. X Dews o 2

i /*

- >1
/S

< >m

</

(1) 54° (2) 42° (3) 44°

p
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ﬁf

(4) 45°

(4) 45°

131. The length of a Rectangle is increased by 60%. By what percent should its breadth be decreased so as

to maintain same area ?

(4) 38

(1) 37.5 (2) 425 (3) 25

2.8 B 58050 D 60% Bondod. T DTe5ed” 558 B0 om0l eyt Jof TS0
BRoTd 9

(1) 37.5 (2) 425 3) 25

4) 38

132. Which of the following measures of central tendency can be calculated graphically ?

(1) Mean (2) Median only
(3) Mode only (4) Median and Mode
808 T O So ot IH Sosd (v IGE” Kedosuisy) ? %%%
(1) [rew (2) Sogghisso ST
(3) eroEEo ST (4) SoggHSo SoBAKw erdoFse
38 (A)
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133. In AABC, MN || BC, the area quadrilateral MBCN = 130 sq. cm. If AN : NC =4 : 5 then the area of
AMAN is sq. cm. EE
G
A
M N
B C
(1) 32 (2) 45 (3) 36 (4) 39

AABC &° MN || BC, MBCN LSS0y g0 130 35.20.20. AN : NC =4 : 5 AMAN es030% T30
35.250.20.
.4 .
A B

B C

(1) 32 (2) 45 (3) 36 4) 39

134. If the numerator of fraction is increased by ‘5’ and denominator is increased by ‘2°, it becomes equal to

% and if the numerator of the fraction is decreased by ‘1’ and denominator decreased by *5’, it becomes

equal to 1. Then the fraction is

11 8 2 7
g = gy = gy £ 4 L
(1) > (2) 3 3) 7 4) T
es @55&&'):0 @3§b®$°$§ ‘57 58 Sobaka Fordd 2’ EODB es @5&2&30 % 5 35S0, 8 @E\’)‘J‘O G308,
(I
o0 Bo0d ‘17 &R I, B0 Bood ‘5PBRIVD &b ‘1 e, e & HHBo ey
11 8 2 7
p Ll 2) = 5 & 4 L
()14 ()13- ()? ()ll
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135. If the length of the shadow of tower is equal to height of tower at a point of time, what is the angle of
E[w]
elevation of the sun at that time ? rﬁ:;i

(1) 45° (2) 60° (3) 30° (4) 90°

2 S H00%08’ 2.5 €356 Boot, Des s TP IV BRI 9000, & Bo008” St el

Efero Jots 2

(1) 45° (2) 60° (3) 30° (4) 90°

136, 13+23+33+4+53+6+Ry?

(1) 29?2 (2) 287 (3) 8§ 4) 28

B+2B3+3+4+5+6+7=2?

(1) 292 (2) 282 (3) 8 4) 283

137. The mean of 12 observations was calculated as 60. It was detected on rechecking that value of 40 was

mistakenly copied as 28. What is the correct mean ?

(1) 61 (2) 63 (3) 64 (4) 72

12 $88earome BKew 60 ™ KE3oSHE08. TP DHSe0Bes A of Bo3oTroro 40 e

[E]Z'[=]
g Tk
DEens 28 T ST Bi3ex BIROB. 50000 OGN BHfe o8 2 Chek

(1) 61 (2) 63 (3) 64 4) 72

40 (A)
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138. Atriangle ABC is drawn to circumscribe a circle of radius 4 cm such that the segments BD and DC

into which BC is divided by the point of contact D are lengths 8 cm and 6 cm respectively. Then

lengths of sides AB and AC are respectively.

=]
A Sk
e

0]

Ce— 6cm > D« 8cm —»B
(1) 10em, 12 cm (2) 14cm, 10 cm
(3) 15¢cm, 13 cm (4) 12cm, 15 cm

©gbeso ABC & 4 20.00. 5o Mo 58500 eos0Poisedod. oy Hosxd D, BC gherdy Sotk
Sgrgocreon BD = 8 20.20., DC'= 6 20.20. It 288008, 0305 AB 508a%0 AC ghere SesHes

2S00
iy EIXE
e
0]
Ce—6ecm —= D« 8cm —B
(1) 10 20.20., 12 20.5. (2) 14 20.2., 10 20.2.
(3) 152020, 13 20.5. (4) 1220.2., 15 20.20.
; ; : : . - . [E]2[x]
139. Which of the following rational number is expressible as a terminating decimal ? ‘C;]ﬁ =
111 351 2029 797 i
L) —= 2y 3y =L ) =
() 2= @ = @ W 2=
808 TS D essEiah Sopyy Sossocly ST SEESESKEE ?
111 351 2029 797
1) — 2y =% 3 === 4) —
()165 ()75 ()225 ()145
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140. It is not possible to construct a triangle with the measurements of lengths of its sides as
(1) 4cm, 5cmand 7 cm IS
B

(2) 3cm,5cmand 5 cm

(3) 3cm,3 cmand 6 cm

(4) 4cm, 5cmand 8 cm

&8 (H5Herd) G ot dForr &0l ghere DD Soden
(1) 420.2., 5 20.25. $080%3.7 20.20.

(2) 3 20.20., 5 20.520. S0BAKY'S 20.20.

(3) 3 20.20., 3 20.a0. 35005076 20.a0.

(4) 420.2., 5 205, 508050 8 Bo.2.

141. The sum of three numbers is 104. The ratio of the first to the second is 3 : 4 and the ratio of second to
the third is 2 : 3. What is the second number ?

(1) 38 () 32 (3) 48 4) 26
5o Bopge Boodo 104 Baxe3 $00H Tots Sopse VR 3 1 4 500 Toks B0 BarEsS
050 2 1 3 Ay @003 Tk Hogy ~OS 2 Q?%
(1) 38 (2) 32 (3) 48 (4) 26 B

142. 1f35 is removed from the data : 30, 34, 35, 36, 37, 38, 39, 40 ; then the median is increased by
(1) 2 2) 1.5 3) 1 (4) 0.5

&seroo 30, 34, 35, 36, 37, 38,39, 40 & 35 &> S'oNods, 205808 0rbEe
(1) 2 (2) 1.5 3) 1 (4) 0.5

143. The wheel of a motor cycle is of radius 35 cm. The number of revolutions per minute has to the wheel

make so as to keep a speed of 66 km/hr will be =x[{,'§;

(1) 100 (2) 300 (3) 500 (4) 1000

35 250,20, TG0 &%) Irerds BIS S0 66 8.2, /Nots $ED Forr EBIAoTeod & HEo RS

IR EoeTed Iod 2

(1) 100 (2) 300 (3) 500 (4) 1000
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144. In the given figure, Z OBC = 45°and Z OAC = 30°. Then the value of the £ AOB is g%!lil
e
(1) 75° (2) 30° (3) 60° (4) 90°
3D $635008° £ OBC = 45° 300050 £ OAC = 30°, o £ AOB Deoss o
[E] g
(1) 75° (2) 30° (3) 60° (4) 90°
145. The remainder when (528)273 + 7 is divided by 529 is
(1) 5 (2) 6 (3) 4 (4) 3
[ O]
=k
(528)°273 + 7 355 529 3 grRoDSHE0 Sy T Jod 9 B
(1) 5 (2) 6 (3) 4 “4) 3
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146. ABC is an equilateral triangle whose side is equal to ‘a’ units. On side BC extended both ways, two
points P and Q are taken, such that BP = CQ = a units, and AP, AQ are joined. Then
PA = units. [EL[E]
=

B
(1) i}a ) 3a 3) V2a 4) 3a
ABC 2.5 5505 (©gheso. oo gheso D ‘@’ aiordtw. BP = CQ = a aloren erodey gheso
BC &0 3to3der P 500 Q oo éEhosedod. AP, AQ oo 59535 PA= C0PREX.
(1) ?a ) 3a (3) V2a 4) a

147. The hour hand of a clock is 8 cm long. The area swept by it between 8.00 am and 11.00 am is

(1) 2 7mem? (2) 8 mcm? (3) 12 mem? (4) 16 mem?

2.5 KAAE08® Qe Sxey D 8 20.20. @6 8.00 am So0cko 11.00 am 000" AGEH

?_@“@50

(1) 2 mSo.0. 2) 8 m S0, (3) 12 nS.0.20. (4) 16 T 5.20.0.

148. Three personsA, B and C are playing a game by standing on a circle of radius 5 m drawnina park.

A throws a ball to B, B to C, C to A. If the distance between A to B and B to C is 6 m each, what is
[E]![=]
Yy

the distance between A and C ? E s

(1) 9.6m (2) 82m (3) 103 m (4) 11.5m

A, B 500015 C €57 5000380 55500 a82rEnE’ 5 2. Tgrgos’ AR 580 D Doad &5 et) extodoTyso.

A 25 2092 B, B &3 2082 C %, € & 208 A 5 0805780, A, B o Sogly 500a50 B, C o 3056

B350 6 Do, @ood A, Co 0G5 85750 o 2 E?@

(1) 9.6 2. 2) 8.2 %%. (3) 10.3 2o. 4) 11.5 .
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149. The following Pie chart shows the expenditure of a country on various sports during a particular year.

Study the graph and answer the question.

If the total amount spent on cricket and hockey together ¥ 35,00,000, the total amount spent

on sports is

\&_e"ia
We® o

3
"6{\{\ b’bo

N
ot
¢o@

(1) ¥72,00,000

$oB Sy
$0BD0N FH SIFETI 3oy,

(2) ¥ 85,00,000

& Sgr Do, 2.8 B0 2.8 SoSHB e DG Ecso D PBa) Sk Iscren FHRETO%.

(3) T 70,00,000 (4) T 68,00,000

8865 30000 8 3o D 50 I3 30380 Pt T 35,00,000, Jaoo e Eo D eI iz

(1) % 72,00,000 (2) % 85,00,000

150. The Median of an equilateral triangle is 8+/3 cm. What is the area of the triangle ?

Ez[E
e
O]

£
il

(3) X 70,00,000 (4) X 68,00,000

]
E

(1) 7243 cm? (2) 643 cm?

(3) 323 cm? (4) 76+/3 cm?

&8 33050 (Bgheso Bk, 506551 S

&5 83 em. e (©ghe: 050 Jo& 2

(1) 72+/3 cm? (2) 643 cm?

(3) 324/3cm? (4) 76+/3 cm?
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